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ERRATA 
Vol. 1947, page 313, line 38. For b. p. 148-150'/22 mm. read b. p. 148-150'. 

~~ 

Vol. 1953, page 236, line 7*. 

Vol. 1953, page 1900, formula (111). 

For m. p.  13A185'  read 134-135'. 

For :COPh read XHPh. 

Vol. 1954, page 1686, lines 33 and 34. The analytical results should read (Found: C, 67.5; H, 5.9; 
N, 4.1. C,,H,,O,N requires C, 67-6; H, 6.0; N, 4.0%). 

Vol. 1955, page 383. 

Vol. 1955, page 1700, line 17'. 

Vol. 1955, page 2480, summary, line 4. 

The arrows between formulz (X) and (XII) should be reversed. 

For 2.16 read 1.83. For 1.98 read 1-30. 

For 1R0, Okl, and l k t v e a d  lk0, OR1, and Mi.  
~~ 

Vol. 1955, page 2481, line 11. 

Vol. 1955, page 4023, Table 2. 

For while ORZ and l k i  were read while Okl and l k i  were. 

For 0.90 read 0.090. For 0.82 read 0.082. 

Vol. 1955, page 4024, 2nd line above Table 4. For 1.120~-sodium hydroxide read ~-120M-potassium 
hydroxide. 

Vol. 1956, page 4, line 30. For C,H18,04 read C,,H1,04. 

Vol. 1956, page 212, line 8. For log,,p(mm. Hg) = 7-035-1278/(t0c + 219.3') read log,, p(mm. Hg) 
= 7*145-l329/(t0c + 224.0'). 

Vol. 1956, page 249, line 3*. 

Vol. 1956, page 249, line 4". 
For C, 60.5 read C, 66.5. 

For C, 66.5 read C, 60-5. 

Vol. 1956, page 361, line 3*. 

Vol. 1956, page 531, formula (VIA). 

For R = H read R' = H. 

There should be a single bond between the central oxygen atom 
and the nearest position on the left-hand benzene ring. 

Vol. 1956, page 672. Equation (3) should read K-1 = 4~Np(2q , )~  evyy-4 dy. 

Vol. 1956, page 700, formula (XIII). The thiophen ring should be completed. 

Vol. 1956, page 893, formulae. In the right-hand ring of the 3-isomer NH should read NH,. 

Vol. 1956, page 967. Second table should read : 
SiHC1, C ' P ,  Mole ratio CHF,*CF,*SiCl, H.[CF,*CF,],;SiC13 

(mmoles) (mmoles) SiHCl, : C,F4 Wt. (g.) Yield (yo) (g.) 
82.5 68.5 1.2 5.4 34 4-8 

110 ,, 1.6 7.1 44 4.0 

275 1 ,  4.0 10.1 63 3.0 
220 I J  3.2 9.8 61 3.1 

* From bottom of main text. 



Errata. 

Vol. 1956, page 1097, line 7. For monomethylhydroxylamine read monopropylhydroxylamine. 

Vol. 1956, page 1150, line 6. For 1-acetoxymethyl-2-oxocyclopentanecarboxylate read l-acetoxy- 
methyl-2-oxocyclohexanecarboxylate. 

Vol. 1956, page 1302, line 7. 

Vol. 1956, page 1554, line 35. 

Vol. 1956, page 1559, last line of text. 

For -[H+] read +[OH-] andfor +[H+] read -[OH-]. 

For 96% read 86%. 

For Al, __t hU read Al, __t B1,. 

Vol. 1956, page 1818, line 6*. 

Vol. 1956, page 1818, line l * .  

For all but the two cases read all but two cases. 

For cyclopropane read cyclopropene. 

Vol. 1956, page 1819, line 16. 

Vol. 1956, page 1819, line 15”. 

For w/v rend wjw. 

For C=C read C=O. 

Vol. 1956, page 1848. On the arrow leading from (XIV) to (XV) for Na read NaI. 

Vol. 1956, page 1970, line 2*. For $2 = 1/&(41 - 43)J $3 = 1/Q(42 - $*) 
read $2 = H41 + $2 - 43 - 4 4 )  

*3 = H4z + $3 - $4 - $1) 

Vol. 1956, page 1971, figure. The four-membered ring should be rotated through 45” about the z axis 
in the direction x to y.  

Vol. 1956, page 2000, lines 1-2 under formula% For 2 : 4-diamino-l’-n-propyl(2’ : 3’-6 : 7)pteridine read 
2 : 4-diamino-l’-n-propylindolo(2’ : 3‘-6 : 7)pteridine. 

Vol. 1956, page 2004, Table 2, heading. For et read at. 

Vol. 1956, page 2168. I n  Table 4, the five entries 5 : 6 enol should all read 1 : 6 enol. 

Vol. 1956, page 2210, Table 4, last column. The last three entries should read I ,  m, n, respectively. 

Vol. 1956, page 2701, title. For Akhookh read Akhnookh. 

Vol. 1956, page 3311. For Part 111.1 read Part III.* Footnotes should read : * Part 11, J., 1956, 2131. 
1 Albert, Brown, and Wood, J., 1956, 2066. 

methylaminopyrimidines. 
Vol. 1956, page 331 1, summary, lines 4 and 5. For 5-amino-4-methylpyrimidines read 5-amino-4- 

Vol. 1956, page 3366, Table 3. Column headings should read : Cols. 4-6 E = amount (mmoles) of 
solute absorbed.* Cols. 7-9 G = wt. (g.) of H20 absorbed.* 

Vol. 1956, 3370, Fig. 8. The labels A and C should be interchanged. 

Vol. 1956, page 3476, figure. The molecular extinction coefficients corresponding to  the tie-stubs on 
the left of the figure should read (from top to bottom) : 50,000, 10,000, 5,000, 1000, 500, 100 (i.e. 
each stub should be numbered). 

Vol. 1956, page 3661, Fig. 4. Right-hand scale should read log E (curves J and K ) .  

* From bottom of main text. 



Errata. 

Vol. 1956, page 3949, Fig. 2. The ordinate should read l/xM. 

Vol. 1956, page 3950, Fig. 3. The ordinate should read l/xM. 

Vol. 1956, page 4597, line 15. For m. p. 161-169" read m. p. 168-169". 

Vol. 1956, page 4598, line 7*. 

Vol. 1956, page 4641, Fig. 3(b). The captions for the full and broken line should be interchanged. 

Vol. 1956, page 4678, line 2*. 

For C ,  15.8 read C, 45.8. 

For hydrolysis product read product of hydrolysis a t  room temperature. 

* From bottom of main text. 


